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1. 	Write the full form of the following : 

(a) ADL 

(b) PMD 

(c) ADHD 

(d) AAMR 

(e) IQ 

1x5=5 

2. 	Answer the following briefly : 	 2.5x2=5 

(a) What do you mean by Orthopaedic 

disorder ? 

(b) Define : Muscle tone. 
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3. 	Write short notes on any four of the following : 

(a) Define 'Assessment in the context of 

individuals with mental retardation. 	5x4=20  

(b) Why should parents be involved in IEP ? 

(c) State the Principles of learning. 

(d) What do you mean by 'Functional 

Assessment' ? 

(e) Objectives of National Trust Act (1999). 

	

4. 	Answer in detail : (Any one of the following) 
10x1=10 

(a) What are the different types of behaviour 

problems ? Explain. 

(b) What is a special school ? Explain the 

various advantages and disadvantages of 

special school. 

(c) What is social development ? Give reasons 

that lead to poor social development of child 

with Mental Retardation and explain day to 

day activities through which social 

development of the child can be enhanced ? 
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1. 	F-1 4-1 ro R5 cf a-)1 r1 (c,4 -4 fffNR : 	 1x5=5 

(a)  - .5`1.(-1. 

(b)  Tf1. 4-1.5 . 

(c)  - .t. -cf.t. 

(d)  - ..71.3.7{. 

(e)  *.n 

2. 	414(r 4 thit rqrTR : 	 2.5x2=5 

(a) 31T 	5-Tfl-wR ctil t? 

(b) iii-Eit44 Til-WT (Muscle tone) (*I) LIFO -115M 
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3. 	B ail 	-97 #N-1-c 14 ft-1--J1) 	: 	5x4=20 

(a) urn  	341a-,Q-1 

(b) (IEP) 4 3-1-fl-T 	̀1-11f1MT qz11  

	t? 

(c) •Trq-Tri=r 	qzr-r ? 

(d) c4-11-)3T FTr 	3171 

(e) 7TZ 	 (1999) 	tqz1-  I 

4. 	facet 1:L#T 	 \3-R : 	 1ox1=10 

(a) -11-1--iic-4-111 	 Wch4? qui-ff 

(b) frrrt 3-117 td*

Tr[974 chi quii 

(c) 1f7-, err t 	4-111 -rob 4-1q 	 

	 t? fq-t-ciR 

oitql 	-,c-Ilt? 
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